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(S Mabendras || P POLICE ssiteac/ UP aizaulsl |

Two numbers are in the ratio of 3 : 5. If 9 is subtracted from each then they are
in the ratio of 12 : 23. Find smaller number.

Gl RANU 3 : 5% U H gl dlc 9 DI YD AU Sldi g dld 12: 23 &
3Urd H BIdil o | BICT YWBAT J1d DIfoTu|

3)
b) 5
c) o

45




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

The L.C.M of two humbers is 63 times their H.C.F. If the sum of H.C.F and
L.C.M is 320 and one of the humber is 45, then the other is

Gl AT DT dYdH JHIIH, HgdH JHUIAD DI 63 -l © | HgdH JHHIddD
3R TYTH JHYT 1 IINT 320 ¢ | Alc TATH H Ub 45 ©, dl G-I 1 DI

a) 35
b) 40
C) 42
d) 49

45




(S Mabendras || P POLICE ssiteac/ UP aizaulsl |

Mean of an observation is 3.5 times of mode. If median is 8. What is the mode
of observation.

D&Ul b U, dgaid B 3.5 A1 ¢ | Al ANEIDI 8 © | Al U&UT T gD 1 5|

)




[ Matendras || P> POLICE siaas,/ UP Slzaurst |

Find the second smallest 3 digit number divisible by 7, 11 and 33 leaving
remainder 6 in each case.

dg SR AT 3 3{d P AT 1A DIl ford 7, 11 3R 33 I fAHIfId B )R
T YA H AN b U H 6 g9d g |

)




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

A and B enter into a partnership with Rs. 50,000 and Rs. 60,000 respectively. C
joins them after x months contributing Rs. 70,000 and B leave x months before

the end of the year. If they share the profit in the ratio of 20 : 18 : 21, then find
the value of x.

A 3R B U 50,000 39T 3{R 60,000 3UY & 1Y TH Ir3icRl § Ud Hd 6|
C. 70,000 3UY & TG PP X HolH & §1¢ 344 AMAA 8IdT © 3R B I8 & 3(d

A x Hol- Ugd ®IS ¢dl gl Afc d A4 &1 20 : 18 : 21 & 3-UId | dicd o, dl X DI
T J1d IfSTU|

a) 12
b) <

45 ) .




(o) WMatkendra || > POLICE miraasi,/ UP azaars |
The median of the following observations is: 37, 31, 42, 43, 46, 25, 39, 43, 32

FaferRad Ueun &t A1feI®T o: 37, 31, 42, 43, 46, 25. 39, 43, 32

a) 37
b) 38

) -




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

The length and breadth of a rectangular piece of land are 26 m and 45 m
respectively. The cost of the land is per 5 m? of the land costs Rs. 65. Find the
cost of land.

Uh 3T

dIPR UGS DI ddls R °

315 T 26 |

e 3R 45 HicX g1 Ufd 5

HieR2 YIS &l HIAd 65 ¥9d ¢ | YS I ST I

45

d DIy |

a) Rs. 15210
b) Rs. 15000
C) Rs. 15200

d) Rs. 14290




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

A total of 324 notes comprising of Rs. 20 and Rs. 50 denominations make a
sum of Rs. 12450. The number of Rs. 20 notes is

Dd 324 Ale fORTH 20 39 31 50 $UYY Hed & Dl 12450 YU ¢ | 20 BT & |
ﬁﬂ'@ﬂ%

a) 200
b) 144
c) 125

45 ) o




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

The area of a parallelogram is 960 cm?. The ratio of its adjacent sides is 5 : 8. If
the altitude on the bigger side is 20 cm, then find the altitude on the smaller
side?

Uh JHIAR IqUSl &1 &b 960 YHIZ 1 $D Jay YISl DI 3Uld 5 : 8 gl Al
oI YOIl TR IAIL 20 JH 5, Al BT Yol UR IAAL F1d Diford?

a) 36
b) so
C) =4
d) 22

45




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

The area of a circular hall is 154 hectares. Find the cost of fencing the hall at
the rate of 50 paise per meter.

Uh IIIPR Gl Bl &ADA 154 R gl 50 U Uid Hicx dl sx A gl 1 a1
eI Dt dNTd ATd PIfSTT

a) Rs. 2200
b) Rs. 2000

C) Rs. 1500

45 d) o 160




(S Mabendras || P POLICE ssiteac/ UP aizaulsl |

If the roots of a quadratic equation are 20 and -7, then find the equation?

gfc U fgurd JHIPHRUI & Hd 20 3R -7 B, dl GHIDRUT JTd HITo1U?

a) X2+ 13x-140=0
b) X2 -13x + 140 = 0

C) x2-13x-140=0




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

When two values of data are changed, the mode of the data changes from 31 to
45. What will be the new mean of the data if the mean with unchanged values

was 52 and the median remains the same?

o 3[Pps| & ol HHI &I gad (¢l SIdl g, dl 3P| Bl dgdd 31 J 45 5l SIIdl g |
bl BT 741 HI€T 1 BT Afe fuRafdd AHEI ardr A1ed 52 4T 3R AT JHMH
edl 67

a) 30
b) 45

45 i




(S Mabendras || P POLICE ssiteac/ UP aizaulsl |

What would be the measure of the diagonal of a square whose area is equal to
578 sq cm?

UdH 91 & [qH0l &1 A19 F1 8T ST &7 d 578 97 IHT & a6 §72

a) 38 cm
b) 34 cm

0




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

The area of a rhombus is 294sq. cm and one diagonal is thrice the length of the
other diagonal. The side of the rhombus Is — (in cm)

U JHYS DT &Ahd 294 T Yl § 3R UH [dd Ul 3= fahul B ddlg I ol T
HISEERRSEIR IR GLIRD)

a) 10710
b) 11

) 710
i




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

24 mango trees, 56 apple trees and 72 orange trees have to be planted in rows
such that each row contains the same number of trees of one variety only. Find

the minimum number of rows in which the above mentioned trees may be
planted.

24 M US, 56 Id & US AR 72 Y & US Uladdl H 59 dg U ol 6 [P

AP Uldd § Had UP ol (W D US| Pl I UM ol | Gldadl &f FAad A

T HIFTE o aH Iudad Us vITE Sff Jhd g | ) -
d

b) 15

A ).




